Example of Japanese by Omega—j.

Omega-j by Matt Gushee is a typesetting experiment of Japanese on omega
system. Character code in input files is translated to Unicode by ocp
file(s). Win32 distribution contains ‘injis.ocp’ (corrected by I. Matsuda),
‘ineucjp.ocp’ (by I. Matsuda), ‘insjis.ocp’ and ‘insjisknj.ocp’. Line breaking
and simple ‘Kinsoku shori’” are realized in ‘insjis.ocp’ and ‘insjisknj.ocp’. The
ocp ‘insjisknj’ is preloaded in a format file ‘omegaj.fmt’ which is created by
the command

omega --ini omegaj "\dump".
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